
1 of 8

SECURITY BRACKET KIT

Tablet Charging Cart

with Cable and Lock

Lock Only Option

888-97-302-W-00 rev. B • 01/13

ASSEMBLY INSTRUCTIONS

Instrucciones de instalación

Notice d’assemblage

Montageanleitungen

取扱い説明書 
安装说明

Laptop Charging Cart

with Cable and Lock

Wall Mount Floor Mount

Cable and Lock

IHW
Touchboards_stamp

http://www.touchboards.com/


2 of 8

A B C

1

2

Components

4x

M4 x 10 mm

Tools

2x

M8 x 80 mm

1x 1x 1x

2x

1x

2
1

Concrete

Concreto

Béton

Massivbeton

Beton

Cemento

コンクリート
水泥质
콘크리트

Wood

Madera

Bois

Holzbalkenträger

Massief Houten Pilaren

Due montanti in legno massiccio

木
木质
나무

Stud Finder
Localizador de largueros de madera
Stud Finder
Auswahl von Montagematerial
Positiebepaler balken
Rilevatore di montanti 
スタッド ファインダー
螺栓探测器
스터드 파인더

2
1

Ø 17/64" (7 mm)

Ø 3/8" (10 mm)

888-97-302-W-00 rev. B • 01/13

1x

Ø 13mm

Ø 13mm



3 of 8

a1

2

b

6

4 5

Wood Stud

•  Wall Mount

•  Floor Mount (concrete)

Concrete

NOTE: When 

locating the Security 

Bracket on a wall, 

the top of the Wall 

Bracket should be 

16” or less from the 

fl oor if using the 

cable, and 7” from 

the fl oor if lock-

ing directly to the 

bracket (no cable).

888-97-302-W-00 rev. B • 01/13



4 of 8

a

b c
d

3
Wood Stud Wall Mount

Stud Finder
Localizador de largueros de madera
Stud Finder
Auswahl von Montagematerial
Positiebepaler balken
Rilevatore di montanti 
スタッド ファインダー
螺栓探测器
스터드 파인더

13mm

e f g2x

M8 x 80 mm

Ø 17/64" (7 mm)NOTE: When locating the Security Bracket on a 

wall, the top of the Wall Bracket should be 16” 

or less from the fl oor if using the cable, and 7” 

from the fl oor if locking directly to the bracket 

(no cable).

888-97-302-W-00 rev. B • 01/13



5 of 8

a

c d

fe g

3 Concrete Wall Mount

b

2x

3-1/8"

(80 mm)

Ø 3/8" (10 mm)

2x

M8 x 80 mm

13mm

NOTE: When locating the Security 

Bracket on a wall, the top of the 

Wall Bracket should be 16” or less 

from the fl oor if using the cable, and 

7” from the fl oor if locking directly 

to the bracket (no cable).

888-97-302-W-00 rev. B • 01/13



6 of 8

a b

c

d e f

3 Floor Mount (concrete)

2x

M8 x 80 mm

3-1/8"

(80 mm)

Ø 3/8" (10 mm)

13mm

2x

888-97-302-W-00 rev. B • 01/13



7 of 8

4x4

Tablet Charging CartLaptop Charging Cart

M4 x 10 mm

888-97-302-W-00 rev. B • 01/13



8 of 8

5

+ =

888-97-302-W-00 rev. B • 01/13

Lock Only

Cable and Lock

IHW
Touchboards_stamp

http://www.touchboards.com/

